RESOLUTION NO. 3 16-63

WHEREAS. The City Council of the City of Mesquite is of the opinion that it is necessary to levy an assessment against the property and the owners thereof abutting upon the following: alley between:

Grubb Drive and Upland Lane from Royal Crest through Lot 12, Block 5, El Rosa Addition and Lot 1 thru 14, Block A, Pasadena Gardens Addition No. 3 and No. 4

and against railway companies whose tracks occupy said alley, if any, for a part of the cost of improving said alley, fixing a time for the hearing of the owners of said property, and the said railway companies, concerning the same, and directing the city Secretary to give notice of said hearing, as required by law; and,

WHEREAS. The City Council has heretofore, by resolution, ordered the improvement of the <u>alley</u> enumerated above, by paving said <u>alley</u> with

Five (5) inch thick 2,500 P.S.I. Reinforced Concrete Pavement Eight (8) feet wide meeting the City of Mesquite Standard Specifications

Any existing paving in place, meeting these specifications, or which can be utilized, shall be left in place, if any, and corresponding credits to the property owners shall be allowed on the assessments,

and,

WHEREAS, the Director of Public Morks of the City of Mesquite has, in accordance with the law, filed his report with the City Council, setting forth the participation by the railway companies, if any, and the property owners, in the cost thereof, together with the names of the owners and the description of said property, and the work to be done adjacent thereto, and the amounts to be assessed against each lot or parcel and its owner and all other matters required by the applicable law;



AN APPENDICULAR TO

Now, Therefore,

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF MESQUITE:

SECTION 1. That the report or statement filed by the Director of Public Works having been duly examined is hereby approved.

SECTION 2. That it is hereby found and determined that the cost of improvements on the hereinafter described alley

with the amount or amounts per front foot proposed to be assessed for such improvements against abutting property and the owners thereof, and against railway companies whose tracks occupy said alley

if any, are as follows, to-wit:

SEE LIST ATTACHED



All assessments, however, are to be made and levied by the City Council as it may deem just and equitable, having in view the special benefits in enhanced value to be received by such parcels of property and owners thereof, the equities of such owners, and the adjustment of the apportionment of the cost of improvements so as to produce a substantial equality of benefits received and burdens imposed.

e<mark>rici</mark>alization

and the second

The City Secretary of the City of Mesquite is hereby directed to give notice of the time and place of such hearing and of other matters and facts in accordance with the terms and provisions of the Act passed at the First called session of the Fortieth Legislature of the State of Texas, and known as Chapter 106 of the Acts of said Session, together with any amendments thereto, now shown as Article 1105b of Vernon's Texas Civil Statutes, which said law, as an alternative method for the construction of Street improvements in the City of Mesquite, Texas, has been adopted and made a part of the Charter of said City, being Section 12, Article III of said Charter. Said notice shall be by advertisement inserted at least three times in a newspaper published in the City of Mesquite, Texas, the first publication to be made at least ten (10) days before the date of said hearing. Said notice shall comply with and be in accordance with the terms and provisions of said Act.

The City Secretary is hereby further directed to give notice of said hearing by mailing to said owners, their agents or attorneys, and to said railway companies, their agents or attorneys, if any, a copy of said notice by mail, deposited in the Post Office at Mesquite, Texas, ten (10) days prior to the date of said hearing, provided, however, that any failure of the property owners to receive said notice, shall not invalidate these proceedings.

SECTION 4. That this resolution shall take effect from and after its passage as in the Charter in such cases is made and



provided.

PASSED by the City Council of the City of Mesquite, Texas, on the 3 day of June , 1963.

B. W. Cuce

ATTEST:

City Secretary

Section (Section)

-4-

UPLAND LAWE FROM ROYAL CREST TERCURE LOT 12. BLOCK 5. BL ROSA ADDITION

Promerty Owner	Property Description	Front Est.	Unit Gost	Total Aggentust
-	l Rosa Addition Block No. 5			
Simeri Stola 512 Grabb Dr.	Let 1	72 Ft.	\$2.00/F.F.	\$ 144.00
Helvin G. Feel 108 Grabb Dr.	Lot 2	72 Ft.	\$2.00/F.F.	6 144.00
Thomas D.Wallace 504 Grubb Dr.	Let 3	72 Ft.	\$2. 00 /7.F.	\$ 144.00
William M. Jones 500 Grado Dr.	Lot 4	72 Ft.	\$2.90/T.F.	\$ 144.00
omes J. Taylor '4 Grabb Dr.	Lot 5	72 Ft.	\$2.00/T.T.	\$ 144,90
Charles Kirkendail 420 Grand Dr.	Lot 6	73 Ft.	\$2.00/T-F-	\$ 144.00
Gelling & Porter 416 gradum Dr.	Lot 7	72 Ft.	\$2.90/F.F.	\$ 144.60
Geo. F. Wilcomson 412 Grabb Dr.	Lot 6	72 Ft.	\$2.00/F.F.	\$ 144.90
Charles B. Bond 408 Graho Dr.	Lot 9	72 Ft.	\$2.00/F.F.	\$ 144.90
Ray Morwood 404 Grubb Dr.	Lot 10	72 Ft.	\$2.00/F.F.	\$ 144.90
Faul Godorth 400 Grabb Dr.	Lot 11	72 Ft.	\$2.00/F.F.	\$ 144.00
Jee B. Grimes	Lot 12	72 Ft.	\$2.00/F.F.	\$ 144.00

Tage 2	Property Description	Front Feet	Unit Cost	Total Assaspani
	esdens Gardens dn. 10. 3 alack A			
Robert S. Bennett 541 Upland Lane	Let 1	71.03 Ft.	\$2.00/2.2.	\$ 142.06
Lester McKinney 537 Upland Lame	Lot 2	57.50 Pt.	\$2,00/7.7.	\$ 115.00
Jack D. Hartless 533 Upland Lane	Lot 3	57.50 Ft.	\$2.00/F.F.	\$ 115.00
Frances Pains \$29 Upland Lane	Lot 4	57.50 Pt.	\$2.00/F.F.	\$ 115.00
George D. Tudor 325 Upland Lane	Lot 5	57.50 Ft.	\$2.00/r.r.	\$ 118.00
R. Jones	Lot 6	\$7.50 Pt.	\$2.00/F.F.	\$ 115.00
Florence B. Andrews 517 Upland Lame	Lot 7	57.50 Ft.	\$2.00/F.F.	\$ 115.00
Charles Flatcher 513 Upland Lane	Lot 8	57.5 0 Ft.	\$2.00/F.F.	\$ 115.00
Pasaden Thomas C. Menos 509 Upland Lane	Lot 9	Block A 57 Ft.	\$2.00/T.F.	\$ 114.00
James F. Stroman 505 Upland Lane	Lot 10	57 Pt.	\$2.00/7.7.	\$ 114.00
Menneth Carnathan 501 Upland Lane	Lot 11	57 Ft.	\$2.00/T.F.	\$ 114.00
Plorence B. Andrews 421 Upland Lane	Lot 12	57 Ft.	\$2.00/7.7.	\$ 114.00
700 B. Stewart	Lot 13	57 Ft.	\$2.00/T.T.	* 114.00
C. Graves	Lot 14	60 Ft.	\$2.00/F.F.	\$ 120.00
-		Total 1682.53 F.F.		49,365.06

